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Q 1. 593 crows and 204 pigeons are sitting on a tree. How many birds
are there on the tree?

Solution HTO
No. of crows on a tree = 593

No. of pigeons on a tree = +204
Total no. of birds on the tree= 797

Ans. There are 797 birds sitting on the tree.

Q2. In a showroom, there are 432 bikes and 294 scooties. How many total
vehicles are there in showroom?

Solution HTO
1

No. of bikes = 432

No. of scooties = 29 4

= 726

Total vehicles =

Ans. There are total 726 vehicles in the showroom.

Q 3. Inalibrary, there are 594 Science books and 325 Maths books.
How many total books are there in the library?

Solution HTO
1
No. of Science books =594
No. of Maths books =+325
= 919

Total books =

Ans. There are total 919 books in the library.



Q 4. There are 329 pandas and 531 bears in a forest. How many total animals
are there in the forest?

Solution HTO
1
No. of pandas in a forest = 329
No. of bears in a forest =+531
Total no.of animals in the forest = 860

Ans. There are 860 total animals in the forest.



